LakeCounty Division of Transportation						
Section Description CPMS Pin	t: 2022 Pavement Marking and n: 22-00000-15-GM			ment Markers & re	∍place	
Bidder Superior Road Striping, Inc. Precision Pavement Markings, Inc. Marking Specialists Corporation	Address 1980 N. Hawthorne Ave. 1220 Bell Court P.O. Box 745	City, State, Zip Melrose Park, IL 60160 Pingree Grove, IL 60140 Arlington Heights, IL 60006	Bond Bid Bond Bid Bond Bid Bond		0.16%	\$ Over/Under Eng. Estimate -\$71,889.43 \$1,713.70 \$632,120.21
Engineer's Estimate				\$1,092,376.05		1
Design	IDOT(2)	Contract Bidder	C	County Engineer		
Finance	Bid Tab File	Resident Eng.	N	/Igr Capital Prograเ	mming	_
Construction	Project File	Request By Mail	_			



Return Bid Tabulation

Project: 2022 Pavement Marking and Markers Replacement

Section: 22-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged and missing reflectors

Item	Pay Code	Description	Quantity	Unit	Eng Est	timate	Marking Speciali	sts Corporation	Superior Road	l Striping, Inc.	Precision Pavement Markings, Inc.	
No.	.,				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	7,676.0	SQ FT	\$4.50	\$34,542.00	\$6.75	\$51,813.00	\$5.00	\$38,380.00	\$4.50	\$34,542.00
2		THERMOPLASTIC PAVEMENT MARKING - LINE 4"	225,577.0	FOOT	\$0.65	\$146,625.05	\$0.88	\$198,507.76	\$0.70	\$157,903.90	\$0.60	\$135,346.20
3	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	40,129.0	FOOT	\$0.85	\$34,109.65	\$1.30	\$52,167.70	\$0.90	\$36,116.10	\$1.00	\$40,129.00
4	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	26,712.0	FOOT	\$1.20	\$32,054.40	\$2.20	\$58,766.40	\$1.50	\$40,068.00	\$1.50	\$40,068.00
5	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	20,834.0	FOOT	\$2.00	\$41,668.00	\$3.35	\$69,793.90	\$2.00	\$41,668.00	\$2.00	\$41,668.00
6	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	3,582.0	FOOT	\$4.50	\$16,119.00	\$6.75	\$24,178.50	\$5.00	\$17,910.00	\$4.50	\$16,119.00
7		PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 4"	3,560.0	FOOT	\$5.50	\$19,580.00	\$9.50	\$33,820.00	\$7.00	\$24,920.00	\$6.00	\$21,360.00
8		PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 6"	7,017.0	FOOT	\$8.00	\$56,136.00	\$14.25	\$99,992.25	\$9.30	\$65,258.10	\$9.00	\$63,153.00
9	78006100	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	2,250.0	SQ FT	\$35.00	\$78,750.00	\$72.00	\$162,000.00	\$25.00	\$56,250.00	\$40.00	\$90,000.00
10		PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,526.0	FOOT	\$25.00	\$38,150.00	\$37.00	\$56,462.00	\$23.00	\$35,098.00	\$2.55	\$3,891.30
11		PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 24"	582.0	FOOT	\$40.00	\$23,280.00	\$72.00	\$41,904.00	\$32.00	\$18,624.00	\$8.00	\$4,656.00
12	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	1,778.0	SQ FT	\$10.00	\$17,780.00	\$9.50	\$16,891.00	\$5.00	\$8,890.00	\$9.00	\$16,002.00



Return Bid Tabulation

Project: 2022 Pavement Marking and Markers Replacement

Section: 22-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged and missing reflectors

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Marking Speciali	sts Corporation	Superior Road	Striping, Inc.	Precision Marking	
No.		25554	4		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
13	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	10,664.0	FOOT	\$1.50	\$15,996.00	\$1.10	\$11,730.40	\$0.70	\$7,464.80	\$1.50	\$15,996.00
14	ZANNUNNA	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	11,305.0	FOOT	\$2.50	\$28,262.50	\$1.65	\$18,653.25	\$1.00	\$11,305.00	\$2.25	\$25,436.25
15	/9/11/10/11/19	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	890.0	FOOT	\$3.50	\$3,115.00	\$2.50	\$2,225.00	\$1.50	\$1,335.00	\$2.95	\$2,625.50
16	/9/11/10/11/	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	1,637.0	FOOT	\$5.00	\$8,185.00	\$4.00	\$6,548.00	\$2.00	\$3,274.00	\$4.50	\$7,366.50
17	/xnnun://	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	408.0	FOOT	\$10.00	\$4,080.00	\$11.20	\$4,569.60	\$5.00	\$2,040.00	\$9.00	\$3,672.00
18		GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	3,554.0	SQ FT	\$6.00	\$21,324.00	\$12.50	\$44,425.00	\$6.00	\$21,324.00	\$7.00	\$24,878.00
19	/80110//0	GROOVIING FOR RECESSED PAVEMENT MARKING 8"	3,560.0	FOOT	\$0.75	\$2,670.00	\$2.20	\$7,832.00	\$1.65	\$5,874.00	\$1.25	\$4,450.00
20		GROOVIING FOR RECESSED PAVEMENT MARKING 10"	4,419.0	FOOT	\$1.00	\$4,419.00	\$6.00	\$26,514.00	\$2.00	\$8,838.00	\$2.25	\$9,942.75
21	/X11111U5	GROOVING FOR RECESSED PAVEMENT MARKING 19"	1,526.0	FOOT	\$5.00	\$7,630.00	\$13.00	\$19,838.00	\$5.50	\$8,393.00	\$6.00	\$9,156.00
22	78100300	REPLACEMENT REFLECTOR	4,859.0	EACH	\$20.00	\$97,180.00	\$26.00	\$126,334.00	\$13.50	\$65,596.50	\$15.00	\$72,885.00
23	78.3111.3111	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	10.0	EACH	\$15.00	\$150.00	\$45.00	\$450.00	\$10.00	\$100.00	\$50.00	\$500.00
24	78300201	PAVEMENT MARKING REMOVAL - GRINDING	171,903.0	SQ FT	\$0.50	\$85,951.50	\$1.15	\$197,688.45	\$0.60	\$103,141.80	\$0.65	\$111,736.95



Return Bid Tabulation

Project: 2022 Pavement Marking and Markers Replacement

Section: 22-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged and missing reflectors

Item	Pay Code	Description	Description	Quantity	Unit	Eng Es	timate	Marking Speciali	sts Corporation	Superior Road	d Striping, Inc.	Precision Markin	Pavement gs, Inc.
No.			-		Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
25	LC783031	GROOVING FOR RECESSED PAVEMENT MARKING 31"	582.0	FOOT	\$10.00	\$5,820.00	\$36.00	\$20,952.00	\$9.50	\$5,529.00	\$15.00	\$8,730.00	
26	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$35,000.00	\$35,000.00	\$29,935.00	\$29,935.00	\$1.00	\$1.00	\$10,000.00	\$10,000.00	
27	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	423,584.0	FOOT	\$0.35	\$148,254.40	\$0.55	\$232,971.20	\$0.38	\$160,961.92	\$0.40	\$169,433.60	
28	X /XUUX'35	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 6 INCH	59,081.0	FOOT	\$0.55	\$32,494.55	\$0.85	\$50,218.85	\$0.50	\$29,540.50	\$0.70	\$41,356.70	
29	X7800845	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 8 INCH	1,000.0	FOOT	\$0.75	\$750.00	\$2.40	\$2,400.00	\$0.75	\$750.00	\$1.00	\$1,000.00	
30	X /X10300	RECESSED REFLECTIVE PAVEMENT MARKER	1,046.0	EACH	\$50.00	\$52,300.00	\$52.50	\$54,915.00	\$42.00	\$43,932.00	\$65.00	\$67,990.00	
	Bid Total					\$1,092,376.05 \$1,724,496.20				\$1,020,486.62	2 \$1,094,089.75		



Return Bid Details

Project: 2022 Pavement Marking and Markers Replacement

Section: 22-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged and missing reflectors

ltem	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Qualitity	Oill	Unit Price	Extnd. Price	Price	Price	Price
1	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	7,676.0	SQ FT	\$4.50	\$34,542.00	\$4.50	\$6.75	\$5.42
2	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	225,577.0	FOOT	\$0.65	\$146,625.05	\$0.60	\$0.88	\$0.73
3	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	40,129.0	FOOT	\$0.85	\$34,109.65	\$0.90	\$1.30	\$1.07
4	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	26,712.0	FOOT	\$1.20	\$32,054.40	\$1.50	\$2.20	\$1.73
5	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	20,834.0	FOOT	\$2.00	\$41,668.00	\$2.00	\$3.35	\$2.45
6	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	3,582.0	FOOT	\$4.50	\$16,119.00	\$4.50	\$6.75	\$5.42
7	78004620	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 4"	3,560.0	FOOT	\$5.50	\$19,580.00	\$6.00	\$9.50	\$7.50
8	78004630	PREFORMED PLASTIC PAVEMENT MARKING, TYPE D - LINE 6"	7,017.0	FOOT	\$8.00	\$56,136.00	\$9.00	\$14.25	\$10.85
9	78006100	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	2,250.0	SQ FT	\$35.00	\$78,750.00	\$25.00	\$72.00	\$45.67
10	78006150	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,526.0	FOOT	\$25.00	\$38,150.00	\$2.55	\$37.00	\$20.85



Return Bid Details

Project: 2022 Pavement Marking and Markers Replacement

Section: 22-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged and missing reflectors

Item	Pay Code Description		Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
11	78006180	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 24"	582.0	FOOT	\$40.00	\$23,280.00	\$8.00	\$72.00	\$37.33
12	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	1,778.0	SQ FT	\$10.00	\$17,780.00	\$5.00	\$9.50	\$7.83
13	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	10,664.0	FOOT	\$1.50	\$15,996.00	\$0.70	\$1.50	\$1.10
14	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	11,305.0	FOOT	\$2.50	\$28,262.50	\$1.00	\$2.25	\$1.63
15	78009008	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	890.0	FOOT	\$3.50	\$3,115.00	\$1.50	\$2.95	\$2.32
16	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	1,637.0	FOOT	\$5.00	\$8,185.00	\$2.00	\$4.50	\$3.50
17	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	408.0	FOOT	\$10.00	\$4,080.00	\$5.00	\$11.20	\$8.40
18	78011000	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	3,554.0	SQ FT	\$6.00	\$21,324.00	\$6.00	\$12.50	\$8.50
19	78011040	GROOVIING FOR RECESSED PAVEMENT MARKING 8"	3,560.0	FOOT`	\$0.75	\$2,670.00	\$1.25	\$2.20	\$1.70
20	78011050	GROOVIING FOR RECESSED PAVEMENT MARKING 10"	4,419.0	FOOT	\$1.00	\$4,419.00	\$2.00	\$6.00	\$3.42
21	78011095	GROOVING FOR RECESSED PAVEMENT MARKING 19"	1,526.0	FOOT	\$5.00	\$7,630.00	\$5.50	\$13.00	\$8.17



Return Bid Details

Project: 2022 Pavement Marking and Markers Replacement

Section: 22-00000-15-GM

Description: Remove and replace distressed Pavement Markings; Install Recessed Pavement Markers & replace damaged and missing reflectors

Item	Item Pay Code Description		Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Oill	Unit Price	Extnd. Price	Price	Price	Price
22	78100300	REPLACEMENT REFLECTOR	4,859.0	EACH	\$20.00	\$97,180.00	\$13.50	\$26.00	\$18.17
23	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	10.0	EACH	\$15.00	\$150.00	\$10.00	\$50.00	\$35.00
24	78300201	PAVEMENT MARKING REMOVAL - GRINDING	171903.0	SQ FT	\$0.50	\$85,951.50	\$0.60	\$1.15	\$0.80
25	LC783031	GROOVING FOR RECESSED PAVEMENT MARKING 31"	582.0	FOOT	\$10.00	\$5,820.00	\$9.50	\$36.00	\$20.17
26	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$35,000.00	\$35,000.00	\$1.00	\$29,935.00	\$13,312.00
27	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	423584.0	FOOT	\$0.35	\$148,254.40	\$0.38	\$0.55	\$0.44
28	X7800835	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 6 INCH	59,081.0	FOOT	\$0.55	\$32,494.55	\$0.50	\$0.85	\$0.68
29	X7800845	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 8 INCH	1,000.0	FOOT	\$0.75	\$750.00	\$0.75	\$2.40	\$1.38
30	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	1,046.0	EACH	\$50.00	\$52,300.00	\$42.00	\$65.00	\$53.17
		Bid Total				\$1,092,376.05			